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±Ü£ÅPæ - 01 / Paper – 01 

GÓ….GÓ….GÇ….Ô. ±ÜäÃÜPÜ ±ÜÄàûæ  – 2021 

SSLC SUPPLEMENTARY EXAMINATION – 2021 

…Œ⁄æ⁄fl : V⁄{}⁄ + …e¤k´⁄ + —⁄»⁄·¤d …e¤k´⁄ 
Subjects : MATHEMATICS + SCIENCE + SOCIAL SCIENCE 

(PÜ®Ü°vÜ ÊÜáñÜá¤ CíXÉÐ… ÊÜÞ«ÜÂÊÜá / Kannada and English Medium) 

D}⁄°¡⁄V⁄◊⁄ —⁄MOÊfi}⁄ 

KEY ANSWERS 

—⁄MOÊfi}⁄ —⁄MSÊ¿ : 81-K/E ] [ Code No. : 81-K/E  

Jlflo Æ⁄√ÀÊ-V⁄◊⁄ —⁄MSÊ¿ : 40 + 40 + 40 = 120  ] [ Total No. of Questions : 40 + 40 + 40 = 120 

…Œ⁄æ⁄fl : V⁄{}⁄ 
Subject : MATHEMATICS 

 D ±ÜÅ£Áãí Ü̈á ±ÜÅÍæ°WÜÚWæ A¥ÜÊÝ A±Üä|ì ÖæàÚPæWÜÚWæ ®ÝÆáR BÁáRWÜÙÜ®Üá° ¯àvÜÇÝX æ̈. AÊÜâWÜÙÜÈÉ ÓÜÄ¿Þ Ü̈ 

EñÜ¤ÃÜÊÜ®Üá° BÄÔ ¯ÊÜáWæ ¯àvÜÇÝXÃÜáÊÜ  K.Gí.BÃ…. ( OMR ) EñÜ¤ÃÜ ±Ü£ÅPæ¿áÈÉ ¯àÈ A¥ÜÊÝ PÜ±Üâ³ 

ÍÝÀá¿á ¸ÝÇ… ±ÝÀáíp… ±æ®…¯í Ü̈ ÓÜÄ¿Þ Ü̈ BÁáR¿á®Üá° Íæàv… ÊÜÞw :  

 Four choices are given for each of the following questions / incomplete statements. 

Choose the correct answer among them and shade the correct option in the OMR 

Answer Sheet given to you with a black / blue ball point pen. 40 × 1 = 40 

1. x + 2y = 6 ÃæàTÝñÜ¾PÜ ÓÜËáàPÜÃÜ|PæR ÓÜÄ Öæãí¨ÜáÊÜíñæ D PæÙÜWæ Jí Ü̈á PæãàÐÜuPÜÊÜ®Üá° ¯àvÜÇÝX¨æ. ÖÝWÝ Ü̈Ãæ 

a ÊÜáñÜá¤ b WÜÙÜ ÓÜÄ¿Þ¨Ü æ̧ÇæWÜÙÜá 

x 0 a 2 4 

y 3 0 2 b 

 (A) a = 6 ÊÜáñÜá¤ b = 0 (B) a = 2 ÊÜáñÜá¤ b = 2 

 (C) a =  – 6 ÊÜáñÜá¤ b = 2 (D) a = 6 ÊÜáñÜá¤ b = 1 

 EñÜ¤ÃÜ :  (D) a = 6 ÊÜáñÜá¤ b = 1 
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 The correct values of a and b which satisfy the linear equation x + 2y = 6 in the table 

given below are 

x 0 a 2 4 

y 3 0 2 b 

 (A) a = 6 and b = 0 (B) a = 2 and b = 2 

 (C) a =  – 6 and b = 2 (D) a = 6 and b = 1 

 Ans. :  (D) a = 6 and b = 1 

2. D PæÙÜX®Ü ÃæàTÝñÜ¾PÜ ÓÜËáàPÜÃÜ|WÜÙÜÈÉ "AÔ¤ÃÜ' hæãàw ÓÜËáàPÜÃÜ|WÜÙÜá 

 (A) x – 2y = 0 (B) 2x + 3y – 9 = 0 

  3x – 4y – 20 = 0  4x + 6y – 18 = 0 

 (C) x + 2y – 4 = 0 (D) x + y – 10 = 0 

  2x + 4y + 12 = 0  x – y – 6 = 0 

 EñÜ¤ÃÜ :  (C) x + 2y – 4 = 0 

   2x + 4y + 12 = 0 

 The inconsistent pair of linear equations among the following are 

 (A) x – 2y = 0 (B) 2x + 3y – 9 = 0 

  3x – 4y – 20 = 0  4x + 6y – 18 = 0 

 (C) x + 2y – 4 = 0 (D) x + y – 10 = 0 

  2x + 4y + 12 = 0  x – y – 6 = 0 

 Ans. :  (C) x + 2y – 4 = 0 

   2x + 4y + 12 = 0 

3. 0
111
=++ cybxa  ÊÜáñÜá¤ 0

222
=++ cybxa  GÃÜvÜá ÃæàTÝñÜ¾PÜ ÓÜËáàPÜÃÜ|WÜÙÜá dæà◊ÓÜáÊÜ 

ÃæàTæWÜÙÝ¨ÜÃæ D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü ÓÜíŸí«ÜÊÜâ 

 (A) 
2

1

2

1

b

b

a

a
≠  (B) 

2

1

2

1

2

1

c

c

b

b

a

a
≠=  

 (C) 
2

1

2

1

2

1

c

c

b

b

a

a
==  (D) 

2

2

1

1

b

a

b

a
=  

 EñÜ¤ÃÜ :  (A) 
2

1

2

1

b

b

a

a
≠  
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 If the pair of equations 0
111
=++ cybxa   and 0

222
=++ cybxa  are intersecting 

lines, then the correct relation among the following is 

 (A) 
2

1

2

1

b

b

a

a
≠  (B) 

2

1

2

1

2

1

c

c

b

b

a

a
≠=  

 (C) 
2

1

2

1

2

1

c

c

b

b

a

a
==  (D) 

2

2

1

1

b

a

b

a
=  

 Ans. :  (A) 
2

1

2

1

b

b

a

a
≠  

4. x + y = 8 ÊÜáñÜá¤ 2x – y = 4 ÓÜËáàPÜÃÜ|WÜÙÜ®Üá° ¹wÔ¨ÝWÜ x ÊÜáñÜá¤ y WÜÙÜ ¸æÇæWÜÙÜá 

 (A) x = 4,  y = 2 (B) x = 4,  y = 4 

 (C) x = 5,  y = 3 (D) x = 4,  y = 8 

 EñÜ¤ÃÜ :  (B) x = 4,  y = 4 

 The values of x and y in the following pair of linear equations x + y = 8 and 2x – y = 4 

are 

 (A) x = 4,  y = 2 (B) x = 4,  y = 4 

 (C) x = 5,  y = 3 (D) x = 4,  y = 8 

 Ans. :  (B) x = 4,  y = 4 

5. 2 2x  = 3 ( 4x + 7 ) ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü B¨ÜÍÜì ÃÜã±ÜÊÜâ 

 (A) 2 2x  + 12x + 7 = 0 (B) 2 2x  – 12x – 21 = 0 

 (C) 2 2x  – 4x – 7 = 0 (D) 2 2x  – 12x – 7 = 0 

 EñÜ¤ÃÜ :  (B) 2 2x  – 12x – 21 = 0 

 The standard form of the quadratic equation  2 2x  = 3 ( 4x + 7 ) is 

 (A) 2 2x  + 12x + 7 = 0 (B) 2 2x  – 12x – 21 = 0 

 (C) 2 2x  – 4x – 7 = 0 (D) 2 2x  – 12x – 7 = 0 

 Ans. :  (B) 2 2x  – 12x – 21 = 0 
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6. 2 2x + kx + 9 = 0  ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü Jí Ü̈á ÊÜáãÆÊÜâ 3 B¨ÜÃæ, k ¿á ¸æÇæ 

 (A) k = – 9 (B) k = 9 

 (C) k = – 5 (D) k = – 3 

 EñÜ¤ÃÜ :  (A) k = – 9 

 If one root of the quadratic equation 2 2x + kx + 9 = 0 is  3 then the value of k is  

 (A) k = – 9 (B) k = 9 

 (C) k = – 5 (D) k = – 3 

 Ans. :  (A) k = – 9 

7. 2ax + bx + c = 0 ÓÜËáàPÜÃÜ|¨Ü ÊÜáãÆWÜÙÜá ÓÜÊÜá®ÝX Ü̈ªÃæ BWÜ 

 (A) 042 <− acb  (B) 042 >− acb  

 (C) 042 =− acb  (D) b – 4ac = 0 

 EñÜ¤ÃÜ :  (C) 042 =− acb  

 If the roots of the equation  2ax + bx + c = 0  are equal then 

 (A) 042 <− acb  (B) 042 >− acb  

 (C) 042 =− acb  (D) b – 4ac = 0 

 Ans. :  (C) 042 =− acb  

8. 2 2x – 3x – 4 = 0 ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü Íæãà«ÜPÜÊÜâ 

 (A) – 21 (B) 21−  

 (C) 41  (D) 41 

 EñÜ¤ÃÜ :  (D) 41 

 The discriminant of the quadratic equation 2 2x – 3x – 4 = 0 is 

 (A) – 21 (B) 21−  

 (C) 41  (D) 41 

 Ans. :  (D) 41 
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9. 2x – 16x = 0 ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü ÊÜáãÆWÜÙÜá 

 (A) 0 ÊÜáñÜá¤ 8 (B) 0 ÊÜáñÜá¤ 16 

 (C) 4 ÊÜáñÜá¤ 0 (D) 16 ÊÜáñÜá¤ 4 

 EñÜ¤ÃÜ :  (B) 0 ÊÜáñÜá¤ 16 

 The roots of the quadratic equation 2x – 16x = 0 are 

 (A) 0 and 8 (B) 0 and 16 

 (C) 4 and 0 (D) 16 and 4 

 Ans. :  (B) 0 and 16 

10. 2, 4, 6, .... ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿á Êæã Ü̈Æ n ±Ü Ü̈WÜÙÜ ÊæãñÜ¤ÊÜâ 

 (A) )1( += nnS
n

 (B) 
2

)12( +
=

nn
S

n
 

 (C) 
2

)1( −
=

nn
S

n
 (D) 

2

)12( −
=

nn
S

n
 

 EñÜ¤ÃÜ :  (A) )1( += nnS
n

 

 The sum of first n terms of an arithmetic progression 2, 4, 6, .... is 

 (A) )1( += nnS
n

 (B) 
2

)12( +
=

nn
S

n
 

 (C) 
2

)1( −
=

nn
S

n
 (D) 

2

)12( −
=

nn
S

n
 

 Ans. :  (A) )1( += nnS
n

 

11. Jí¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿á n ®æà ±Ü¨Ü 
n

a = 7 – 4n B¨ÝWÜ, D ÍæÅà{¿á Êæã Ü̈Æ®æà ±Ü¨ÜÊÜâ 

 (A) 3 (B) 4 

 (C) – 4 (D) – 3 

 EñÜ¤ÃÜ :  (A) 3 

 The n-th term of an arithmetic progression is given by  
n

a = 7 – 4n. Then the first term 

of the arithmetic progression is 

 (A) 3 (B) 4 

 (C) – 4 (D) – 3 

 Ans. :  (A) 3 
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12. x, 5, 12, y WÜÙÜá ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿áÈÉ¨ÜªÃæ x ÊÜáñÜá¤ y WÜÙÜ æ̧ÇæWÜÙÜá PÜÅÊÜáÊÝX 

 (A) 7 ÊÜáñÜá¤ 17 (B) 2 ÊÜáñÜá¤ 19 

 (C) – 2 ÊÜáñÜá¤ 19 (D) – 3 ÊÜáñÜá¤ 17 

 EñÜ¤ÃÜ :  (C) – 2 ÊÜáñÜá¤ 19 

 If  x, 5, 12, y  are in Arithmetic progression the values of x and y are respectively 

equal to 

 (A) 7 and 17 (B) 2 and 19 

 (C) – 2 and 19 (D) – 3 and 17 

 Ans. :  (C) – 2 and 19 

13. Jí¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà~¿á Êæã¨ÜÆ 20 ±Ü¨ÜWÜÙÜ ÊæãñÜ¤ 650 ÖÝWÜã C¨æà ÍæÅà~¿á Êæã¨ÜÆ 19 ±Ü Ü̈WÜÙÜ 

ÊæãñÜ¤ 589 B¨ÝWÜ, ÍæÅà~¿á 20 ®æà ±Ü¨Ü  

 (A) 58 (B) 69 

 (C) 60 (D) 61 

 EñÜ¤ÃÜ :  (D) 61 

 The sum of first 20 terms of an Arithmetic progression is 650 and the sum of its first 

19 terms is 589, then the 20th term of the same Arithmetic progression is 

 (A) 58 (B) 69 

 (C) 60 (D) 61 

 Ans. :  (D) 61 

14. D PæÙÜX®Ü ÓÜËáàPÜÃÜ|WÜÙÜÈÉ ÊÜWÜìÓÜËáàPÜÃÜ|ÊÜâ 

 (A) xxxx 213 22 +=++  (B) 2x  = x – 3 

 (C) 22
x

x
x =+  (D) 0)3( 2 =−xx  

 EñÜ¤ÃÜ :  (B) 2x  = x – 3 
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 The quadratic equation among the following is 

 (A) xxxx 213 22 +=++  (B) 2x  = x – 3 

 (C) 22
x

x
x =+  (D) 0)3( 2 =−xx  

 Ans. :  (B) 2x  = x – 3 

15. sin 65° Wæ ÓÜÊÜá®Ý Ü̈á¨Üá 

 (A) cos 65° (B) 
2

3
 

 (C) cos 25° (D) 
2

1
 

 EñÜ¤ÃÜ :  (C) cos 25° 

 sin 65° is equal to 

 (A) cos 65° (B) 
2

3
 

 (C) cos 25° (D) 
2

1
 

 Ans. :  (C) cos 25° 

16. tan θ = 3  B¨ÜÃæ, sec θ ¨Ü ¸æÇæ¿áá 

 (A) 2 (B) 
3

2
 

 (C) 
2

1
 (D) 9 

 EñÜ¤ÃÜ :  (A) 2 

 If  tan θ = 3  then the value of sec θ is 

 (A) 2 (B) 
3

2
 

 (C) 
2

1
 (D) 9 

 Ans. :  (A) 2 
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17. PæãqrÃÜáÊÜ bñÜÅ¨ÜÈÉ sin θ × tan α ¨Ü ¸æÇæ 

   

 (A) 
5

3
 (B) 

5

4
 

 (C) 
8

7
 (D) 

4

5
 

 EñÜ¤ÃÜ :  (B) 
5

4
 

 In the given figure the value of sin θ × tan α is 

   

 (A) 
5

3
 (B) 

5

4
 

 (C) 
8

7
 (D) 

4

5
 

 Ans. :  (B) 
5

4
 

18. cos 9θ = sin θ ÊÜáñÜá¤ 9θ < 90° B¨ÝWÜ, tan 5θ ¨Ü ¸æÇæ 

 (A) 
3

1
 (B) 1 

 (C) 3  (D) 0 

 EñÜ¤ÃÜ :  (B) 1 
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 If cos 9θ = sin θ where 9θ < 90°, then the value of tan 5θ is 

 (A) 
3

1
 (B) 1 

 (C) 3  (D) 0 

 Ans. :  (B) 1 

19. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ÓÜÄ¿ÞXÆÉ¨Ü ÓÜíŸí«ÜÊÜâ 

 (A) sin2θ = 1 – cos2θ  (B) sec2θ = 1 + tan2θ 

 (C) cosec2θ = 1 + cot2θ (D) sec2θ = 1 – tan2θ 

 EñÜ¤ÃÜ :  (D) sec2θ = 1 – tan2θ 

 Which of the following is not a correct relation ? 

 (A) sin2θ = 1 – cos2θ  (B) sec2θ = 1 + tan2θ 

 (C) cosec2θ = 1 + cot2θ (D) sec2θ = 1 – tan2θ 

 Ans. :  (D) sec2θ = 1 – tan2θ 

20. ( 2, 3 ) ÊÜáñÜá¤ ( 0, 1 ) ¹í¨ÜáWÜÙÜ®Üá° ÓæàÄÓÜáÊÜ ÃæàTÝSívÜ¨Ü ÊÜá«ÜÂ¹í¨Üá  

 (A) ( 2, 4 ) (B) ( 4, 2 ) 

 (C) ( 1, 2 ) (D) ( 2, 1 ) 

 EñÜ¤ÃÜ :  (C) ( 1, 2 ) 

 The mid-point of the line segment joining the points ( 2, 3 ) and ( 0, 1 ) is  

 (A) ( 2, 4 ) (B) ( 4, 2 ) 

 (C) ( 1, 2 ) (D) ( 2, 1 ) 

 Ans. :  (C) ( 1, 2 ) 

21. ÊÜáãÆ¹í Ü̈á ÊÜáñÜá¤ ( x, y ) ¹í¨ÜáWÜÙÜ®Üá° ÓæàÄÓÜáÊÜ ÃæàTÝSívÜ¨Ü E Ü̈ªÊÜâ 

 (A) 22 yx +  

 (B) 22 yx −  

 (C) 22 yx +
 

 (D) 22 yx −  

 EñÜ¤ÃÜ :  (C) 22 yx +  
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 The length of the line segment joining the 'origin' and the point ( x, y ) is 

 (A) 22 yx +  

 (B) 22 yx −  

 (C) 22 yx +
 

 (D) 22 yx −  

 Ans. :  (C) 22 yx +  

22. ÊÜáãÆ¹í Ü̈á ‘O ’,  A ( 5, 0 )  ÊÜáñÜá¤  B ( 0, 5 ) ¹í¨ÜáWÜÙÜ®Üá° ÓæàÄÔ¨ÝWÜ æ̈ãÃæ¿ááÊÜ ∆ OAB ¿á 

ËÔ¤à|ìÊÜâ 

 (A) 25 ÊÜWÜìÊÜÞ®ÜWÜÙÜá (B) 10 ÊÜWÜìÊÜÞ®ÜWÜÙÜá 

 (C) 12 ÊÜWÜìÊÜÞ®ÜWÜÙÜá (D) 12·5 ÊÜWÜìÊÜÞ®ÜWÜÙÜá 

 EñÜ¤ÃÜ :  (D) 12·5 ÊÜWÜìÊÜÞ®ÜWÜÙÜá 

 The area of the ∆ OAB formed by joining the points A ( 5, 0 ), B ( 0, 5 ) and the origin 

‘O’ is 

 (A) 25 sq.units (B) 10 sq.units 

 (C) 12 sq.units (D) 12·5 sq.units 

 Ans. :  (D) 12·5 sq.units 

23. P ( x, y ) ¹í Ü̈áÊÜâ A ( ),
11

yx  ÊÜáñÜá¤ B ),(
22

yx  ¹í¨ÜáWÜÙÜ®Üá° ÓæàÄÓÜáÊÜ ÃæàTÝSívÜÊÜ®Üá° 

21
: mm  A®Üá±ÝñÜ¨ÜÈÉ AíñÜÄPÜÊÝX Ë»ÝXÔ Ü̈Ãæ P ¿á ¯¨æàìÍÝíPÜWÜÙÜá 

 (A) 












+

+

+

+

21

1221

21

1221
,

mm

ymym

mm

xmxm
 

 (B) 












−

−

−

−

21

1221

21

1221
,

mm

ymym

mm

xmxm
 

 (C) 














+

+

+

+

21

1211

21

2221
,

mm

ymxm

mm

ymxm
 

 (D)  












+

+

+

+

21

12

21

12
,

mm

yy

mm

xx
 

 EñÜ¤ÃÜ :  (A) 












+

+

+

+

21

1221

21

1221
,

mm

ymym

mm

xmxm
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 The co-ordinates of the point P ( x, y ) which divides the line joining the points 

A ( ),
11

yx  and B ),(
22

yx  internally in the ratio  
21

: mm  are 

 (A) 












+

+

+

+

21

1221

21

1221
,

mm

ymym

mm

xmxm
 

 (B) 












−

−

−

−

21

1221

21

1221
,

mm

ymym

mm

xmxm
 

 (C) 














+

+

+

+

21

1211

21

2221
,

mm

ymxm

mm

ymxm
 

 (D)  












+

+

+

+

21

12

21

12
,

mm

yy

mm

xx
 

 Ans. :  (A) 












+

+

+

+

21

1221

21

1221
,

mm

ymym

mm

xmxm
 

24. ÓÜíbñÜ BÊÜê£¤¿á ËñÜÃÜOæ¿áÈÉ ""PÜwÊæá CÃÜáÊÜ Ë«Ý®Ü¨Ü'' ÊÜáñÜá¤ ""A◊PÜËÃÜáÊÜ Ë«Ý®Ü¨Ü'' KiàÊ…WÜÙÜ, 

dæà¨Ü®Ü¨Ü ¹í¨ÜáË®Ü ü£g ¨ÜãÃÜÊÜ®Üá° ÓÜãbÓÜáÊÜâ¨Üá 

 (A) ÓÜÃÝÓÜÄ (B) ÊÜÞ«ÝÂíPÜ 

 (C) ŸÖÜÆPÜ (D) ÊÝÂ²¤ 

 EñÜ¤ÃÜ :  (B) ÊÜÞ«ÝÂíPÜ 

 The abscissa of the point of intersection of the "less than type” and “more than type” 

of ogives of a grouped data gives its 

 (A) Mean (B) Median 

 (C) Mode (D) Range 

 Ans. :  (B) Median 

25. ÊÜXàìPÜêñÜ ¨ÜñÝ¤íÍÜWÜÙÜ ÓÜÃÝÓÜÄ¿á®Üá° ®æàÃÜ Ë«Ý®Ü©í¨Ü PÜívÜá×w¿ááÊÜ ÓÜãñÜÅ 

 (A) 
ii

i

xf

f
X

∑

∑
=  (B) 

i

ii

f

xf
X

∑
=  

 (C) 
i

ii

f

xf
X

∑

∑
=  (D) h

fff

ff
lX













−−

−
+=

201

01

2
 

 EñÜ¤ÃÜ :  (C) 
i

ii

f

xf
X

∑

∑
=  
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 The formula used to find the Mean of the grouped data by direct method is 

 (A) 
ii

i

xf

f
X

∑

∑
=  (B) 

i

ii

f

xf
X

∑
=  

 (C) 
i

ii

f

xf
X

∑

∑
=  (D) h

fff

ff
lX













−−

−
+=

201

01

2
 

 Ans. :  (C) 
i

ii

f

xf
X

∑

∑
=  

26. 10, 6, 8, 11, 15 D ¨ÜñÝ¤íÍÜWÜÙÜ ÊÜá«ÝÂíPÜÊÜâ 

 (A) 11 (B) 10 

 (C) 6 (D) 8 

 EñÜ¤ÃÜ :  (B) 10 

 The Median of the scores 10, 6, 8, 11, 15 is 

 (A) 11 (B) 10 

 (C) 6 (D) 8 

 Ans. :  (B) 10 

27. PæãqrÃÜáÊÜ bñÜÅ¨ÜÈÉ DE || BC, DE = 3 cm, BC = 6 cm ÊÜáñÜá¤ ∆ ADE ¿á ËÔ¤à|ì 15 cm
2

 B¨ÜÃæ, 

∆ ABC ¿á ËÔ¤à|ìÊÜâ 

 

 (A) 60 cm2  (B) 45 cm2  

 (C) 30 cm2  (D) 75 cm2  

 EñÜ¤ÃÜ :  (A) 60 cm2  
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 In the given figure DE || BC. If DE = 3 cm, BC = 6 cm and the area of  

 ∆ ADE = 15 cm 2 , then the area of triangle ABC is  

 

 (A) 60 cm2  (B) 45 cm2  

 (C) 30 cm2  (D) 75 cm2  

 Ans. :  (A) 60 cm2  

28. PæãqrÃÜáÊÜ bñÜÅ¨ÜÈÉ B  = 90° ÊÜáñÜá¤ BD ⊥ AC B¨ÜÃæ, D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü ÓÜíŸí«ÜÊÜâ 

 

 (A) 2AB  = AD . DC  

 (B) 2BC  = AD . BC  

 (C) 2BC  = CD . AC 

 (D) 222 ACABBC +=  

 EñÜ¤ÃÜ :  (C) 2BC  = CD . AC 
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 In the given figure B  = 90° and BD ⊥ AC, then the correct relation among the 

following is 

 

 (A) 2AB  = AD . DC  

 (B) 2BC  = AD . BC  

 (C) 2BC  = CD . AC 

 (D) 222 ACABBC +=  

 Ans. :  (C) 2BC  = CD . AC 

29. PæãqrÃÜáÊÜ bñÜÅ¨ÜÈÉ XY || BC ÖÝWÜã AY = 3·5 cm ÊÜáñÜá¤ YC = 2·5 cm B¨ÜÃæ, 
BX

AX
 Wæ ÓÜÊÜá®Ý Ü̈á¨Üá 

 

 (A) 
7

12

 

 (B) 
7

5

 

 (C) 
12

7

 

 (D) 
5

7

 

 EñÜ¤ÃÜ :  (D) 
5

7
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 In the given figure XY || BC. If AY = 3·5 cm and YC = 2·5 cm then 
BX

AX
 is equal to 

 

 (A) 
7

12
 (B) 

7

5

 

 (C) 
12

7
 (D) 

5

7

 

 Ans. :  (D) 
5

7
 

30. PQR ÆíŸPæãà®Ü £Å»Üág¨ÜÈÉ Q  = 90°. PR, PQ ÊÜáñÜá¤ QR ¸ÝÖÜáWÜÙÜ ÊæáàÇæ bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ 

ÊÜWÜìWÜÙÜ®Üá° GÙæ¿áÇÝX¨æ. ÊÜWÜì PRCD ÊÜáñÜá¤ ÊÜWÜì PQFE WÜÙÜ ËÔ¤à|ìWÜÙÜá PÜÅÊÜáÊÝX 100 cm2
 

ÊÜáñÜá¤ 36 cm2
 B¨ÜÃæ, QR  ¸ÝÖÜáË®Ü E¨ÜªÊÜâ 

 

 (A) 8 cm (B) 6 cm 

 (C) 10 cm (D) 64 cm 

 EñÜ¤ÃÜ :  (A) 8 cm 
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 In the right angled ∆ PQR, Q  = 90°. Squares on the sides PR, PQ and QR are drawn 

as shown in the figure. The areas of the squares PRCD and PQFE are respectively 

equal to 100 cm2  and 36 cm 2 . Then the length of the side QR  is 

 

 (A) 8 cm (B) 6 cm 

 (C) 10 cm (D) 64 cm 

 Ans. :  (A) 8 cm 

31. ABC ÆíŸPæãà®Ü £Å»Üág¨ÜÈÉ  C  = 90° ÊÜáñÜá¤ AC = CB = 3 cm B¨ÜÃæ, £Å»Üág¨Ü ËPÜ|ì¨Ü E¨ÜªÊÜâ 

 (A) 6 cm (B) 23  cm 

 (C) 32  cm (D) 18 cm 

 EñÜ¤ÃÜ :  (B) 23  cm 

 In the right angled triangle ABC, C  = 90° and AC = CB = 3 cm then the length of its 

hypotenuse is 

 (A) 6 cm (B) 23  cm 

 (C) 32  cm (D) 18 cm 

 Ans. :  (B) 23  cm 
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32. ‘O ’ Pæàí¨ÜÅÊÜâÙÜÛ ÊÜêñÜ¤PæR XA ÊÜáñÜá¤ XB ÓÜ³ÍÜìPÜWÜÙÜ®Üá° bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ GÙæ¿áÇÝX¨æ. D 

PæÙÜX®ÜÊÜâWÜÙÜÈÉ ñÜ±Ý³XÃÜáÊÜ ÓÜíŸí«ÜÊÜâ 

 

 (A) AX = BX  (B) ∠ AXO = ∠ BXO 

 (C) ∠AOX = ∠ BOX (D) AX = OX  

 EñÜ¤ÃÜ :  (D) AX = OX 

 O is the centre of the circle, XA and XB are the tangents drawn to the circle as shown 

in the figure. The 'Wrong' relation among the following is 

 

 (A) AX = BX  

 (B) ∠ AXO = ∠ BXO 

 (C) ∠AOX = ∠ BOX 

 (D) AX = OX  

 Ans. :  (D) AX = OX 
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33. ‘O ’ Pæàí¨ÜÅÊÜâÙÜÛ ÊÜêñÜ¤¨ÜÈÉ, ÊÜêñÜ¤dæà«ÜPÜÊÜâ 

 

 (A) XY (B) AB  

 (C) PQ  (D) PR 

 EñÜ¤ÃÜ :  (B) AB 

 In the circle with centre O, the secant is  

 

 (A) XY (B) AB  

 (C) PQ  (D) PR 

 Ans. :  (B) AB 
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34. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ ‘O ’ Pæàí¨ÜÅÊÜâÙÜÛ ÊÜêñÜ¤PæR AB  ÊÜáñÜá¤ AC WÜÙÜá ÓÜ³ÍÜìPÜWÜÙÝXÊæ.    ∠ BOC = 120° 

ÊÜáñÜá¤ AO = 8 cm B¨ÜÃæ, ÊÜêñÜ¤¨Ü £ÅgÂ¨Ü E Ü̈ªÊÜâ  

 

 (A) 34  cm (B) 38  cm 

 (C) 4 cm (D) 6 cm 

 EñÜ¤ÃÜ :  (C) 4 cm 

 AB  and AC  are the tangents to the circle with centre O as shown in the figure.  

If ∠ BOC = 120° and AO = 8 cm then the length of the radius of the circle is  

 

 (A) 34  cm 

 (B) 38  cm 

 (C) 4 cm 

 (D) 6 cm 

 Ans. :  (C) 4 cm 
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35. AB = 11 cm E¨ÜªËÃÜáÊÜ ÃæàTÝíSívÜÊÜ®Üá° 6 : 5 ÃÜ A®Üá±ÝñÜ Ü̈ÈÉ hÝÂËá£¿á ÃÜaÜ®æ¿á ±ÜÅPÝÃÜ 

bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ Ë»ÝXÓÜÇÝX æ̈. ÇæPÝRaÝÃÜ Ë«Ý®Ü©í Ü̈ PÜívÜá×w¨ÝWÜ AP ÊÜáñÜá¤ BP WÜÙÜ 

E¨ÜªWÜÙÜá PÜÅÊÜáÊÝX 

 

 (A) 6 cm ÊÜáñÜá¤ 5 cm (B) 6·6 cm ÊÜáñÜá¤ 4·4 cm 

 (C) 6·5 cm ÊÜáñÜá¤ 4·5 cm (D) 4·5 cm ÊÜáñÜá¤ 5·5 cm 

 EñÜ¤ÃÜ :  (A) 6 cm ÊÜáñÜá¤ 5 cm 

 A line AB of length 11 cm is divided in the ratio 6 : 5 geometrically as shown in the 

figure. The correct lengths of AP and BP obtained by calculation are respectively equal 

to 

 

 (A) 6 cm and 5 cm (B) 6·6 cm and 4·4 cm 

 (C) 6·5 cm and 4·5 cm (D) 4·5 cm and 5·5 cm 

 Ans. :  (A) 6 cm and 5 cm 
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36. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ ÊæáàÇÝ½WÜ ñæÃæ©ÃÜáÊÜ Jí¨Üá ÍÜíPÜáË®Ü ¼®Ü°PÜ Ü̈ ±Üä|ì ÊæáàÇæ¾„ ËÔ¤à|ìÊÜâ 

 

 (A) )(
21

rrl +π cm2  

 (B) 2
2

2
121

)( rrrrl πππ +++  cm2  

 (C) 2
121

)( rrrl ππ ++  cm2  

 (D) lrr )(2
21

+π  cm2  

 EñÜ¤ÃÜ :  (C) 2
121

)( rrrl ππ ++  cm2  

 The total surface area of a frustum of a cone opened at the top as shown in the figure 

is 

 

 (A) )(
21

rrl +π cm2  

 (B) 2
2

2
121

)( rrrrl πππ +++  cm2  

 (C) 2
121

)( rrrl ππ ++  cm2  

 (D) lrr )(2
21

+π  cm2  

 Ans. :  (C) 2
121

)( rrrl ππ ++  cm2  
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37. GñÜ¤ÃÜ 6 cm ÊÜáñÜá¤ ±Ý¨Ü¨Ü £ÅgÂ 8 cm CÃÜáÊÜ Jí Ü̈á ÍÜíPÜáË®Ü CÚhÝÃÜá GñÜ¤ÃÜÊÜâ 

 (A) 100 cm (B) 14 cm 

 (C) 44 cm (D) 10 cm 

 EñÜ¤ÃÜ :  (D) 10 cm 

 The slant height of the cone whose radius of the base 8 cm and height 6 cm is 

 (A) 100 cm (B) 14 cm 

 (C) 44 cm (D) 10 cm 

 Ans. :  (D) 10 cm 

38. ±Ý¨ÜWÜÙÜ £ÅgÂWÜÙÜá r cm ÊÜáñÜá¤ GñÜ¤ÃÜ h cm CÃÜáÊÜ Jí¨Üá ®æàÃÜ ÔÈívÜÃ…®Ü ±Üä|ì ÊæáàÇæ¾„ ËÔ¤à|ì 

 (A) 2πr ( r + h ) cm2  (B) πr ( r + h ) cm2  

 (C) hr 2π  cm3  (D) )(
3

1
hrr +π  cm2  

 EñÜ¤ÃÜ :  (A) 2πr ( r + h ) cm2  

 The formula to find the total surface area of a cylinder of base radius r cm and height 

h cm is given by 

 (A) 2πr ( r + h ) cm2  (B) πr ( r + h ) cm2  

 (C) hr 2π  cm3  (D) )(
3

1
hrr +π  cm2  

 Ans. :  (A) 2πr ( r + h ) cm2  

39. 9 cm £ÅgÂËÃÜáÊÜ Jí¨Üá A«ÜìWæãàÙÜ¨Ü Z®Ü¶ÜÆÊÜâ 

 (A) 1372 cm3  (B) 343π cm3  

 (C) 98π cm3  (D) 486π cm3  

 EñÜ¤ÃÜ :  (D) 486π cm3  

 The volume of a hemisphere of radius 9 cm is 

 (A) 1372 cm3  (B) 343π cm3  

 (C) 98π cm3  (D) 486π cm3  

 Ans. :  (D) 486π cm3  
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40. ÊÜáÃÜ©í¨Ü ÊÜÞw¨Ü Jí¨Üá BqPæ¿á®Üá° bñÜÅ¨ÜÈÉ ñæãàÄÓÜÇÝX æ̈. C¨ÜÃÜ ÊæáàÇæ¾„ ËÔ¤à|ìÊÜâ  

 

 (A) rlr ππ +22  cm2  (B) rlr ππ +24  cm2  

 (C) )(3 2 lrrr ++ ππ  cm2  (D) hrr 23

3

1

3

2
ππ +  cm3 . 

 EñÜ¤ÃÜ :  (A) rlr ππ +22  cm2  

 A toy made of wood is given as shown in the figure. The surface area of the toy is 

 

 (A) rlr ππ +22  cm2  (B) rlr ππ +24  cm2  

 (C) )(3 2 lrrr ++ ππ  cm2  (D) hrr 23

3

1

3

2
ππ +  cm3 . 

 Ans. :  (A) rlr ππ +22  cm2  

   
 


